HARSHEHMXFER

SEHEAE R

BF

=

6 - 11 2 5 6 3 6 - 10 4 6 - 13
4 - 12 7 - 12 14 6 10 - 13

HEHHE 10 23 | A HEEHIE 12 18 |EBEHE e | 20 16 | BBFE TEBESE| 16 - 260 | BRAD

XEED(ER - =T - S/IERB - =48/ -

15 9 6 9 3 7 9 8 8 4 - 18
11 8 12 1 10 6 3 - 17

HBAE | 26 17 | HEE FRHE| 21 4 |[HEE—| |ABLB| 19 14 | Bra ERD | 7 - 35 | =t
17 6 10 11 - 10 11 14 - 11 12 6 - 13
12 6 9 9 16 9 12 - 13

AR | 29 12 [ZEBHE AELB| 20 19 | =84 AR | 30 20 |AELS| |EBHE| 18 - 26 | =%t
6 9 14 8 5 15 10 4 16 12 - 8
4 - 11 10 6 12 6 6 - 9

HREHE| 10 20 |&AmIx AT | 18 11 |TEBER| |samIx| 22 10 | PEE— o | 18 - 17 _|HE8I%
8 5 18 13 6 19 12 - 13
9 8 16 8 5 - 13

AT | 17 13 | WEE— FHH | 2 14 | BRAD BRO | 17 26 |HAMTH




